=LPDB

3UDFRZQLN 5RINiDG P JU $GDP 3RIDeVNL 7\J

7N
- 7HFKQRIRJLH LQIRUPDFNIQH
< IDE _PJU$GDP
= 3RIDEVNL $% )7
Q -7
=
O
I 7N
< 7HFKQRIRJLH LQIRUPDF\IQH
n IDE _PJU$GDP
3RIDEVNL $% )7
-
7N
=
T
= 7HFKQRIRJLH LQIRUPDFNIQH
= IDE _PJU$GDP
N 3RIDEVNL $% )7
-
7N 7N
a
Q 7HFKQRIRJLH LQIRUPDF\IQH | 7HFKQRIRJLH LQIRUPDF\IQH
E IDE _PJU$GDP IDE _PJU$GDP
3RIDEVNL $% )7 | |3RIDEVN. $% )7
-7 -
7N 7N
—_ 7HFKQRIRJLH LQIRUPDFNIQH 7HFKQRIRJLH LQIRUPDFNIQH
o3 IDE _PJU$GDP IDE _PJU$GDP
3RIDEVNL $% )7 3RIDEVNL $% )7
-7/ -7/
7N 7N
7HFKQRIRJLH LQIRUPDF\IQH 7HFKQRIRJLH LQIRUPDF\IQH 7\G]
IDE _PJU$GDP IDE _PJU$GDP 7HFKQRIRJL
3RIDEVNL $% )7 3RIDEVNL $% )7 H
- - LQIRUPDF\IQ
H (DE PJ
> U $GDP
I 3RIDEVN. $
o 7\G] 7\G] 7\G] 7\G] %
Q .
) 7HFKQRIRJL 7HFKQRIRJL 7HFKQRIRJL 7HFKQRIRJL 37
H H H H
LQIRUPDF\IQ IQIRUPDF\IQ IQIRUPDF\IQ IQIRUPDF\IQ
H IDE PJ H IDE PJ H IDE PJ H IDE PJ
U $GDP U $GDP U $GDP U $GDP
3RIDEVNL $ 3RIDEVNL $ 3RIDEVNL $ 3RIDEVNL $
% % % %
)7 " )7 " )7 " )7 "
/ / / /
o
©
3




